This clarification is provided at the request of the vendor community and addresses CAL feature behavior during conference calls. 

A summary of the call scenario is as follows:
· A calls B and CAL (A->B) is resolved and allowed.

· A puts B on hold.

· A calls C and CAL (A->C) is resolved and allowed.

· A presses conference button to join the call between B and C.

The vendor community requested additional clarity on how the CAL evaluation should be done in this scenario. The vendor community provided several scenarios and outcomes and asked for feedback on the appropriate actions to take to resolve the CAL. 
In addition, the vendor community asked for clarification on a scenario variation as follows:
What would be the appropriate CAL evaluation method if B calls A instead A calls B in the above scenario.  Below is a variation of the scenario provided earlier. 
· B calls A and CAL (B->A) is resolved and allowed.

· A puts B on hold.

· A calls C and CAL (A->C) is resolved and allowed.

· A presses conference button to join the call between B and C.

Finally, the vendor community asked for clarification on how supplementary services should be handled when the CAL is involved.  

Answer

While NS2 agrees that the specific scenarios were not explicitly given in UCR 2008 C3 the required call process and CAL reconciliation behavior is a scenario that constitutes either the modification of an existing connection (i.e., adding a third party to an connection--a conferencing scenario regardless of the number of participants) or the creation of a new connection through call forwarding or transfer or some combination of thereof depending on how a vendor implements the supplementary service.  In either instance, the CAL functionality explicitly requires the renegotiation of the CAL value when the attributes of connection are modified and/or created. 
 

For the scenario:
 

· A calls B and CAL (A->B) is resolved and allowed. 
· A put B on hold. 
· A calls C and CAL (A->C) is resolved and allowed. 
· A presses conference button to join the call between B and C.
 

For this scenario, 12 behaviors/options were identified by the vendor community.  NS2 has evaluated each scenario and provided an in-line response for each.  The NS2 response is based on the assumption that the call scenario is for a configuration where A, B and C were served by the same session controller (SC) and the explicit wording provided was used without interpretation.  It should also be noted that the presented options and the NS2 evaluation did not address call scenarios involving "reflected access level" and "local access level", however, assuming a full understanding of required CAL and call processing behaviors, the similarities can be seen.      
 
1. Just merge the call without any CAL evaluation.- NS2 Response: This behavior is not acceptable and would not result in the appropriate CAL behavior or call processing.    

2. Evaluate CAL(AB->C) where AB is the resolved value of CAL(A->B). – NS2 Response:  This behavior may be acceptable dependent on the vendor’s method of maintaining state full awareness of  resolved CAL for A>B and subsequent resolution of these resolved values.  
3. Evaluate CAL(AC->B) where AC is the resolved value of CAL(A->C). – NS2 Response:  This is the desired behavior. 

4. Evaluate both #2 and #3 and allow the call as long as one of them is resolved successfully. - NS2 Response: This behavior is not acceptable and would not result in the appropriate CAL behavior or call processing.    
5. Evaluate both #2 and #3 and allow the call if and only if both of them is resolved successfully. – NS2 Response:  This behavior may be acceptable dependent on the vendor’s method of maintaining state full awareness of resolved CAL for A>B and subsequent resolution of these resolved values.  
6. Evaluate CAL(AB->AC). – NS2 Response: This may be an acceptable behavior dependent on the vendors method of maintaining stateful awareness of  the resolved CAL for A>B and the resolved CAL for A>C and subsequent resolution of these resolved values.  
7. Evaluate CAL(AC->AB). – NS2 Response: This may be an acceptable behavior depending on the vendor’s method of maintaining stateful awareness of the resolved CAL for A>B and the resolved CAL A>C and subsequent resolution of these resolved values.  

8. Evaluate both #6 and #7 and allow the call as long as one of them is resolved successfully. - NS2 Response: This behavior is not acceptable and would not result in the appropriate CAL behavior or call processing.   
9. Evaluate both #6 and #7 and allow the call if and only if both of them is resolved successfully.- NS2 Response: This may be an acceptable behavior dependent on the vendor’s method of maintaining stateful awareness of  the resolved CAL for A>B and the resolved CAL for A>C and subsequent resolution of these resolved values. 

10. Evaluate CAL(B->C).- NS2 Response: This behavior is not acceptable and would not result in the appropriate CAL behavior or call processing.   
11. Evaluate CAL(C->B). – NS2 Response: This behavior is not acceptable and would not result in the appropriate CAL behavior or call processing.   
12. Evaluate both #10 and #11 and allow the call as long as one of them is resolved successfully. - NS2 Response: This behavior is not acceptable and would not result in the appropriate CAL behavior or call processing.    

13. Evaluate both #10 and #11 and allow the call if and only if both of them are resolved successfully. - NS2 Response: This behavior is not acceptable and would not result in the appropriate CAL behavior or call processing.   
14. Any option above is ok. - NS2 Response: This behavior is not acceptable and would not result in the appropriate CAL behavior or call processing.   
15. None of above. - NS2 Response: This behavior is not acceptable and would not result in the appropriate CAL behavior or call processing.   
Bottom line is that if the CAL matrix is implemented properly {a square matrix} in the given scenario, where A, B and C are served by the same session controller, A and C are the participants in an active connection at a resolved CAL (CAL A<>C) and B is added.  Therefore, the CAL of B must resolve to a defined CAL given by the intersection of CAL B and CAL( A<>C) . 
 In the implementation of a CAL Matrix where:
2>2=2 and 2>2=2
2>4=2 and 4>2=2
2>5=2 and 5>2=2
4>5=4 and 5>4=4
5>5=5 and 5>5=5
 

 And where users A,B and C are  A=2, B=4 and C=5
 

Call leg A>B would resolve to 2  [2<>4=2].  When B is placed on HOLD B's CAL becomes questionable and can be presumed to be 4 (B's assigned/Local CAL). 
 

Call Leg A>C would resolve to 2 (2<>5=2).  When A takes action to add B (CAL B=4) to this call leg the resolution is B>(A<>C) or  (4>2=2).
 

This would essentially be an implementation based on vendor’s option/item 3 above.   It is acknowledged that based on further in-depth understand of a vendors implementation of hold, conferencing, call transfer, etc. and the integrity of "stateful awareness" of these conditions that additional CAL resolution behaviors may be permissible.
 

If additional information is required, please advise the NS2 team as appropriate.  

